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HTHTT 4597 :
HETICTRIT 145911 %1 G8d ae] & TIgT 3R 37T Gl & It HIlag :

(i) STIH-TTH pT13 Fo7 & |

(i) @Y I97 374919 & | % J97 & TGHE 37 3l 14T TT & |

(iii) 3G Y97-97 H 2 3] & 5 J5, 3 37H] & 5 Yo7 dA 5 37H & 3 Jo7 & |

(iv) 2 3P It 97 TG-IHRIT J97 & a1 379 I 30 - 50 gl (I9%) 7 A7 |
(v) 8 3F It o7 ¥ Tg-ITIT o7 & 747 579 I 50 - 80 gl (I9%) 7 5w |
(vi) 5 3] Tt 97 FH-IT0T 97 & TIT 59% I 80 — 120 Vs3] () H v |

(vii) I¥7-YF T P35 GHY [d%cT 781 & | EcTlih, F& 941 T 3AR% 1dHcT 517 1T
T & | et vq Jel § & et T Y97 BT & IH G [

(viii) 3G J97-97 § G/ Gid STERT 997 41 5 /

1. (%) U9 IEgAT 991 YSITd IEg3Ti H 3T TS <hIT | 2
HAAT
(@) ¥ RN g, TIRdd sl T2k d Ya1g =’ | difichd shITIT : 2

i)  319M, 2021 %l YRA hi T
(i)  To=ii 99 2020 — 21 % SR HRATT AYIIEAT hl =] 3

2. (H) I8 T T g8 T TH hicUHeh AYFGEAT 1 IUUAT B,
C=100+08Y &, &l C =399 91 Y = A |

TUHT hITT 2
(i)  HHd s=d 99 (MPS) sl o3

(i) TH-3TA foi=g (Break-Even Point) 90 3 &l &

HAT

(@) S=-60+01Y, SOd%eH g, JalS =adad d Y = U 3 qT
37AITEAT ° a9 = (1) = T 4,000 HUS 7 |

3T o Aqad X (Equilibrium level) 1 0T SHIRT | 2
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper contains 13 questions.

(i1)  All questions are compulsory. Marks are indicated against each question.

(itt) This question paper contains 5 questions of 2 marks each, 5 questions of
3 marks each and 3 questions of 5§ marks each.

(iv) 2 marks questions are Short Answer Type Questions and are to be
answered in 30 — 50 words each.

(v) 3 marks questions are also Short Answer Type Questions and are to be
answered in 50 — 80 words each.

(vi) 5 marks questions are Long Answer Type Questions and are to be
answered in 80 — 120 words each.

(vit) There is no overall choice in the question paper. However, internal choices
have been provided in few questions. The candidates need to attempt only
one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1. (a)
(b)
2 (a)
(b)

Distinguish between Consumption goods and Capital goods. 2
OR

Giving valid reasons, classify the following into stock and flow

variables : 2

i)  Population of India as on 315t March, 2021

(11) Domestic Income of Indian Economy during the fiscal year
2020 - 21

You are given the consumption function of an 1imaginary economy,
C =100+ 0-8Y, where C = Consumption and Y = Income.

Calculate : 2
(1) The value of Marginal Propensity to Save (MPS)

(11) The level of income at Break-Even Point

OR

S=—-60+ 01Y is the saving function, where S is Saving and
Y 1s National Income and Investment Expenditure (I) 1is
< 4,000 crore 1n an economy.

Calculate the Equilibrium level of Income. 2
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3. (+) dIfe Thdl Aegarar d FHANd s=q, Faitsa fas & s1ites 8, a 36
3ITed d USHTR W IS+ a1 GHTfad N sl 3g@ <hifaT | 2

HAAT

(@) e fhEl AdsgaEd § HAilNa s=d, HIfea Mo @ 9 8, d 9
IAE 9 US| g4 a1l G91fad IHE 1 3@ hiTaT | 2

4.  “INU=Ties &7 °§ HE HHAR IHIYETEh & H hEd HHANE hl 39
37feres 37 31feid & & |7

feu U Y9 HT AT dehl g GHIA/Eed hIfSu | 9
5.  “9Rd H 3Tk {ahTd GO FHEAST hl I % WY g3 2 |

T 39 fIU U heHF § TgAd 8 ? 794 3T ol AT dehl gl U hHifog | 2
6. 1970 o Ik o Ad H, WA ohl 7Y =9 <hl FHEEA H deil 8 [TREe 3=

Qﬂlﬁﬁ

39 gifedfd o SR 9 Y99 Sl T Hifeu | 3
7. = fqu U 3ATwSl 9, YA H HREdA % CAfqar faawer s gert 9 favewo

q'%“i‘i'ivrq: 3

TR U 1 ugiaat (feafaar) (% W)
(1972 - 73 qAT 2011 - 12)

oty = 1972 — 73 2011 — 12
e REDIIE 614 52
atid aaaa

B 15-4 18

S IERIECI [ 23-2 30
Sl 100 100

[ RN

8.  YNd 3 YIlhEd™ TN 3TUATS T Tehral el THE TaehTceHess I hl diered
faa=HT ShIfU | 3
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3. (a) If planned savings exceed planned investments in an economy,
state its likely impact on output and employment. 2

OR

(b) If planned savings fall short of planned investments in an
economy, state its likely impact on output and employment. 2

4, “Workers working in formal sector earn more than those in the informal

sector.”

Defend or refute the given statement with valid arguments. 2

5. “Economic development in India has been accompanied by environmental
concerns.”
Do you agree with the given statement ? Give valid reasons in support of
your answer. 2

6. “In the late 1970s, China’s population growth rate had sharply declined

as compared to India.”

Elucidate the reason and impact of this situation. 3
7. From the data given below, compare and analyse the status-wise
distribution of workforce in India : 3

Trends in Employment Pattern (Status-wise) (in %)
1972 - 73 and 2011 - 12

Year
Status 1972 - 73 2011 - 12
Self-Employed 61-4 52
Regular Salaried 15-4 18
Employees
Casual Wage _
Workers e -
Total 100 100
8. Discuss briefly any two similar development strategies followed by India
and Pakistan. 3
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9. (F) AT ThiF (dqa1) T8 & A= =N 6l T&9 T AT HIFT | 3
HAAT

(@) 3l frdt AYeyaedr o, drdide HFhad el 341G (Real GDP)
T 300 S 9 oI bl (3MMER = 100) 110 7, df Hifgeh Tehel Te]
391G (Nominal GDP) <hl TUFT hifSTT | 3

10. I8 #Ad g¢ fop, fawr & gfigdq (AD = T 4,000 g U1 HHTd 399 Joid

(MPC) = 0-5 8, f9a%1 Tk (K) skt sh1al TishaT shl d&d | Tae=T it | 3
11. 37c9 I <hl TAYRON hl ST hioll | Aeq A bl fefd I S HA A
g o9 Hifd fohd JehR T8 &l Tehdl & 2 5
12. (%) f=fafga stieel ¥ eurst fo Usd o1, 1y fafy 9 == fafy @i §
gq Bidl & : 5]
A s
& (T S H)
() | ¥g (-) 60
(i) | Ig HTTY 150
(ifi) | e TfemRy 740
(iv) | hHGTIAT ST TR 1,400
(v) |Tacen & Ui Sg 91ed A 40
(vi) | Ea-TFiforar bt Tisa e 1,000
(vii) |G oe] TRl gl Ty 500
(viii) | %l H i (=) 100
(1x) |HcI=H 100
(x) | T=it 31faw IuwiT == 2,000
(xi) | ORI AT I = 1,000
3T
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10.

11,

12.

(a)  Briefly explain the different phases of circular flow of income.
OR

(b) In an economy, if the Real Gross Domestic Product (GDP) is
< 300 crore and Price Index (with base = 100) 1s 110, calculate the

Nominal Gross Domestic Product.

Discuss briefly the working process of investment multiplier (K),
assuming that Change in Investment (Al) 1s ¥ 4,000 crore and Marginal

Propensity to Consume (MPC) is 0-5.

Explain the concept of deficient demand. How can government spending

policy be helpful in correcting the situation of deficient demand ?

(a) From the following data, show that the National Income will be

same from both Income Method and Expenditure Method :

S. No. | Items (i:g“lc::l;];;e)
1) | Net Exports (—) 60
(11) | Net Indirect Taxes 150
(111) | Operating Surplus 740
(iv) | Compensation of Employees 1,400
(v) | Net Factor Income from Abroad 40
(vi) | Mixed Income of Self-Employed 1,000

(vil) | Net Domestic Fixed Capital Formation 500
(vii1) | Change in Stock (=) 100
(1x) | Depreciation 100
(x) | Private Final Consumption Expenditure 2,000
(x1) Govermpent Final Consumption 1,000
Expenditure

OR
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(@) (1) THAfaRgd 3ffehsl O Y=Tad TR hl TUET hifoy 2

P | g w
st (T s )

(i) | PHGTRAT ST ATRTHS 300

(11) | HAIIE h 200
(iii) | TR IS T UM 100
(1v) | 39qMH 50

(v) |E19H AN W Fehel B 3c91e (GDPy,) 650

(i) Tocen @ 9ed g Y AW b iF T&T Hhl I WYY § Ieaid@
g ==l HIu | 3

Fa/ara AT 994

HETIcTRGT el &1 &Y% 96T | 1oU 7T T d GET 199% & YR W F9
&7 13 (&) 7 13 (@) & 37 31110

ST % AgdnT | faehida Hifd = gaeheh, 77 Gdd faeE @& Hehdeh
(SDG indicators) 9 56 Iall T <hl 1eh hidl % | Tdd fa<pre d& (SDGs) *
TR0 Bl I | a7 91 a4 W SDGs <k Wiid e gorredt =enfud s

o ToTu Hfifd =T 4 2021 — 22 H SDG Y&l g=hieh 9 S3Ele foashidd fha1 7 |

I8 Gkl (I IEA o T W SDG TATHEFRUT qAT FEAH hl T i Hga
T | Hifd RN o ER, I8 YAkl Alhel ol T qen faifdn gumfer
hl QiR 9 $MHAT W YH1I SAdT 8 | 39 gAohie H I 3UhWU Tsh UH
gricfEtaess a3 1 Haor s e gt fGaament &1 3Afesl & 3ar W Ao
1 d @ i § FgEar e |

T TR hT AFAT @ Tob YA | faeprd & dfosy ) ®@T IR & ° gAR

W&l 9 W& & i Fd! JHEdl o HedeR Jg UNadd Ikl 3Tavdsh & | 39
gaehieh H dfiifad 56 &l & § ¥ 44 & T Wit & AU &gl ama

N
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(b) () Calculate the operating surplus from the following data : 2

S. Ttems Amount
No. (in I crore)
(1) | Compensation of Employees 300
(11) | Indirect Taxes 200
(111) | Consumption of Fixed Capital 100
(1v) | Subsidies 50
(v) | Gross Domestic Product at Factor Cost 650
(GDPg,)

(11)  State and discuss briefly the three main components of Net

Factor Income from Abroad. 3

Case/Source Based Question

Read the following text carefully. Answer questions number 13 (a) and 13 (b) on
the basis of the given text and common understanding :

The NITI Aayog Index developed 1n collaboration with German
cooperation, ranks 56 urban areas on 77 Sustainable Developmental
Goals (SDGs) indicators. In its journey of localization of the Sustainable
Development Goals (SDGs) and creating SDG’s progress monitoring
system at all levels, the NITI Aayog has developed the SDG Urban Index
and Dashboard in 2021 — 22.

The index will strengthen SDG localization and institute monitoring at
the wvarious cities level. According to the NITI Aayog, this index
highlights the strengths and gaps of data monitoring and reporting
systems. The tools used in the index will contribute to the creation of an
ecological system in which all stakeholders will be equipped to adopt and
implement data-driven decision-making.

The NITI Aayog 1s of the view that this transformative change 1s quite
essential, given the increasing prominence of our cities and urban areas
in charting the future of development in India. Out of 56 urban areas
ranked in the index, 44 are with population above one million.

9 e P.T.O.
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Hifd I % FATER Y SDG o T 3@l &1 &l 0 — 100 o YA 9T {9
T 8 | Hloh T T Y 7 Tob 9FHa &1 4 2030 & YA AT hl Jriea
ol 8 | T o ThR N 31 g fob Tafa w8l & gaay Tl I R § g9y

& |0 — 49 % THR Y A I I i ATRIE T % €9 H W T 7,

50 — 64 aTcl V&Y ohl TIHIHL Hal T 8, 66 — 99 I i He-TH d 100 Fhi
Tl I8 bl AATaH hal T 7 |

gId : The Economic Times; November 23, 2021 (Modified)

13. (%) Hdd fdehm UTed i | Hifd TR erehieh gRI AMHA fohral gl =0Tl h

STEIT <hITSTT | 2
(@) “sr&d &= S 0 — 100 YA 9T AT @ |7
T =T 2T 379ATE T2 R YuTe! <hl ST Hifeiw | 3
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As per the NITI Aayog, for each SDG the urban areas are ranked on the
scale of 0 — 100. A score of 100 implies that the urban area has achieved
the targets set for 2030. A zero score implies that it 1s the farthest from
achieving the target among the selected urban areas. The areas with
score between 0 and 49 have been ranked as aspirants, those with
50 — 64 are termed as performers, 66 — 99 are called front-runners and

ones with perfect score are called achievers.

Source : The Economic Times; November 23, 2021 (Modified)

13. (a) Outline any two steps involved by the NITI Aayog index in

attaining sustainable development. 2
(b)  “Urban areas are ranked on the scale of 0 — 100.”
Elucidate the ranking system adopted by the NITI Aayog. 3

1 7
LOLLEGE.:



